Calculus Review
Functions and their Graphs

1. Evaluate the function for the given value

a. g (1/3)if g(x)= 
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b. f(m+1) if f(x)= x2 + 3x 

2. Find (f+g)(x), (f-g)(x), (f·g)(x), (f/g)(x) for each f(x) and g(x) and state the domain.
a. f(x) = x2 – 4x and g(x) = 
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b. f(x) = x2 -1 and g(x) = x +1

3. Find (fоg)(x) and (gоf)(x) for  f(x) = 
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and g (x) =  
[image: image4.wmf]1

x

and state the domain for each composition.
4. Determine whether the graph of each function is symmetric with respect to the origin
a. f(x) =
[image: image5.wmf]19
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b. f(x) = 5x2 +6x +9

5. Determine whether the graph of each function is symmetric to the x-axis, y-axis, line y=x, and y= -x or none of these.

a. x +y2 = 1

b. y2 = 
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6. Describe how the graphs of f(x) = x3 and g(x) = - (3x)3 are related.
7. Use the graph of the parent function f(x) = x3 to describe the graph of each related function.
a. y = 
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b. y= -2x3
c. y= 0.75 (x + 1)3
8. Sketch the graph of each function with its parent function. Describe the transformation
a. y = 2(x – 5)3
b. y = - 2 
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9. The cost of labor for servicing cars at B&B Automotive is $50 for each hour. 

a. Graph the function that describes the cost for x hours of labor

b. Graph the function that would describe an additional $25 charge if you decide to also get the oil changed and fluids checked.

c. What would be the cost of servicing a car that required 3.45 hours of labor if the owner requested that the oil be changed and the fluids checked?

10. Sketch the graph of the function y = 
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11. Name x-intercepts of the following graphs and graph

a. y = x3
b. y = (3x-2)3

c. y = (4x + 1)3
12. Graph each function and it inverse

a. f(x) = 
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b. f(x) = x2 + 2x + 2

13. Find f-1(x) then state whether f-1 (x) is a function.

a. f(x) = -x-2

b. f(x) = x2 - 4x + 3

14. Prove that f(x) = (x+1)2 -2 and its inverse are inverse functions.

15. A certain long distance phone company charges callers 10 cents for every minute that they talk. Suppose that you talk for x minutes, where x is any real number greater than zero.
a. Sketch the graph of the function C(x) that gives the cost of an x minute call

b. What are the domain and range of C(x)?

c. Sketch the graph of the inverse function

d. What are the domain and range of the inverse function?

e. What real world situation is modeled by the inverse function?
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